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.' *- .. Match the qualitative characteristics below with the following statements. (21%) 

tt 1). Timeliness 5). Faithful representation t 2). Completeness 6). Relevance 


ifs 3). Free from error 7). Neutrality 


l!p 4). Understandability 8). Confirmatory value 


AJ11 (a) Quality of information that assures users that information represents the economic phenomena that 


it purports to represent. 

(b) Information about an economic phenomenon that changes past or present expectations based on 

previous evaluations. 

(c) The extent to which information is accurate in representing the economic substance of a transaction. 

(d) Includes all the information that is necessary for a faithful representation of the economic 

phenomena that it purports to represent. 

(e) Quality of information that allows users to comprehend its meaning. 

(f) Absence ofbias intended to attain a predetermined result or to induce a particular behavior. 

(g) Haying information available to users before it loses its capacity to influence decisions. 

=	.. Hagar Company has outstanding 2,500 shares of£100 par, 6% preference shares and 15,000 shares of 

£10 par value ordinary. The schedule below shows the amount ofdividends paid out over the last 4 

years.(24%) 

Instructions 

Allocate the dividends to each type ofshares under assumptions (a) and (b). Express your answers in 

per share amounts using the fonnat shown below. 


Year Paid..out 

2014 r------"--'--'--'l'"
I $12,000t··_-_·__.. 

2015 I 26,000 I 

2016 1--52~--' 
r--"'..."',._..........­

2017 I 76,000!!______________JII 
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.::.. .. Pawnee Inc. has issued three types ofdebt on January 1,2015, the start ofthe company's fiscal year. 

(25%) 

(a) $10 million, 10-year, 13% unsecured bonds, interest payable quarterly. Bonds were priced to yield 

12%. 

(b) $25 million par of 10-year, zero-coupon bonds at a price to yield 12% per year. 

(c) $15 million, 10-year, 10% mortgage bonds, interest payable annually to yield 12%. 
Instructions 

Prepare a schedule that identifies the following items for each bond: (1) maturity value, (2) number of 

interest periods over life of bond, (3) stated rate per each interest period, (4) effective-interest rate per 
each interest period, (5) payment amount per period, and (6) present value of bonds at date of issue. 

Unsecured Bonds Zero-Coupon Bonds Mortgage Bonds 

(1) 

(2) 

(3) 

(4) 

(5) 

(6) 



# a : -t"1t"f!(..::.) 16". 
*1«.I!* *-"1 ' e9 

15~7j(0ajtn 20141f.fJ]~n~fflIJE1J1~Jlnl~ttg , ~!1J1$5,400,000 0 ~0ajf*%Itt~tl~~jUI~ 

tft1Dl'~I~I:J9H~~I~px*N:Alt*'~.o~ 2014 ~ 20151f.Z~Ibt19U~51li~ 35o/~ 65%;2014 
~ 20151f.~fJtmjUZ.I~fU~7tjjU~$472,500 :W$409,500 ' JlU 20151frr.~~~I~px*1~l'fi:iJ ? 

(A) $630,000 (B) $720,000 (C) $1,683,000 (D)$1,890,000 
2.~jU~J.JHf::;lft;0aj~!:EZ~gtftltJ : 
Ef3 " ~ff!(gt~~.J!I!~Jbf*~.m ' ftJ!~JJi~~~Mlt~ 0 

Z,,~~.*ttZ.*~lli~.~m~.m~~~lli,~ftU0aj••~.OO~~.ft~.*,OO& 
ttt1i;.fi:1ltf1Mltl1l!o 
~'~~~~ffiH~$&~~~~rr$o 

T " illfJNttmmJ11 Etrl[tff)tpj!j$&~fJimtf{rfJN$ 
Jj(; " ;(f~I~Ei3px*@]L&~&~~Ibt{9lJ5* 0 

~rJj~jU~J(ilf.tfi:iJ:l[1Elii ? 
Jltnftgti&~~Jh JI~ftgtfiigt~Jh JI~~~J!IE 

~) ~'T"~ ~ Z 
(B) Z " DG PS ~ " T 
(C) Jj(; Z " ~ Ef:I " T 
(D) Jj(; pS T 
3.5~IT~aj Xl 1f.1JJMAiiiMm 8 1fZIDtfJi ' ~ X4 1f.~z.~gffJf.~$5,200,000 X5 1f.W~~5J0 

OOfJT.1J~83fF.~~gt~&~B:~ffio~m$~ 30%, ~rj5~5Ii}a] X5 1f:~IUJ~~f1iZ*~t£t~ff!: 

(A)~8t. : J::*tfJfIl $500,000 
(B)jl~G : ~~lBm&~~••z~.1i $1,120,000 
(C)f1f8t. : ~gtfJftJ $1,600,000 
(D)ii8t. : ~*t1Jf. $2,100,000 
4.~jU1fIBJJJt~mt.~tii~zfif{}zfb , fi:iJ~.~? [71ll1 
(A)Jm:fU1(tfj&7t~~it~551tJ ' ~*~.*M5fJJi1iZmtAz.~. 


(B)fU}~,1ltfj~&7t~~••55tJJ ' ~UfUJ~,4)(A~~\~fBJ~&7t~Jti.WN:JV5tJJ 


(C)fU}i~r5i:te:E&7tJi~••551JJ ' :mtfttl:tJDfU}~,f*.-fff1R 


(D).m1r3i$~ra'3i$.~JJi~mtlJJ~ , 1'~.it~551b5fJJi1iZmtAZ1iZ. 


(E)m:fU1(tfj~••551b&jUit~55IJJf*.1igt~ml!lJJ ' ff!f*ifa59Milm$stflm~fJJ~ 


~:j~#7\5£:« 

5.%1*0ajJlx~§B'g~iIl••ZIflOO1iZI1~ Xl 1f1JJ~ Xl 1f.~7t.8U~$100 :W$180'~1tiill.~ 
t!t.It%1*0EtJ Xl ~*M5'fUZ~••;!k~tJ~$30 (~t:p~.~~fHDl:ff~fU~$10) !IJj~~Ji0 

mJtZ.m~5f,t. ' 1tQ-Efli}5J Xl ~~~)frt.~tpZ it~5f51JJ~~it.E. (~J[~$) z~~~~ftiJ ? 
(A)$(40) (B)$(50) (C)$(80) (0)$(110) 


